Skovde BA

Torsdag EM 20 Br HCP 2019-01-10

Partavling, 9 bord, 17 par. Antal brickor: 20. Medel: 140.6. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 5 194.2 69.37 Anders Bergsten - Gerd Svensson 89003 27194 Skovde BA
2 3 175.8 62.80 Anders Jonsson - Ullis Rosell 65097 49118 Skovde BA
3 18 171.0 61.08 Hillevi Fridell - Per-Olov Térngvist 43377 1862 Skévde BA
4 13 161.4 57.64 Berith Andersson - Eva Mellbring 89022 86470 Skovde BA
5 1 147.0 52.52 Wilhelm Ragnas - Leif Svensson 34250 35721 Skovde BA
6 14 144.0 51.41 Christer Hedén - Christina Hedén 34279 34278 Skévde BA
7 11 142.2 50.78 Johan Thorp - Bjérn Spetz 61144 63679  Skovde BA
8 6 141.5 50.54 Gunnar Nordsten - Britt-Marie Nordsten 40066 40065 Skovde BA
9 8 139.6 49.86 Anna Syberyjska - Ryszard Syberyjski 63685 66634 Skovde BA
10 4 137.6 49.13 Agneta Johansson - Anne-Marie Darth 43365 91804  Skovde BA
11 15 135.1 48.26 Mona Berger - Lilian Helgeson 34271 86915 Skovde BA
12 12 125.3 44.73 Inge Wilsson - Kent Eriksson 43366 91807  Skovde BA
13 7 124.6 44.48 Jan Andersson - Inger Anemo 32029 30847 Skovde BA
14 10 121.3 43.31 Elisabeth Ekman - Douglas Quist 65098 91844 Skovde BA
15 16 118.9 42.45 Kerstin Ivarsson - Hakan Hermansson 23963 23973 Skévde BA
16 2 112.2 40.07 Sune Bustad - Ingvar lvarsson 28980 49995  Skovde BA
17 17 97.9 34.95 Inger Langvik - Eva Wennberg 65096 37275 Skovde BA
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1 10 44 N+1 ¢ 450 140 00| 4 16 44 V-1 *4 50 13.0 10(18 5 4vy N+1 7 450 140 0.0
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6 10 54 S= a5 600 140 00| 2 10 44 V-2 *A 100 140 00| 7 11 540-2 ¢J 200 140 0.0
8 14 34 V-3 8 300 120 20| 5 17 24 V-1 *7 50 120 20(14 4 240= oA 90 120 2.0
2 11 34S+1 45 130 80 60| 3 12 24 0= vK -110 80 60| 2 10 24 S-2 *A -100 9.0 5.0
13 3 3#S+1 &K 130 80 6.0 8 13 24 V= v6 -110 80 60| 5 17 14 S-2 *2 -100 9.0 50
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1 17 34 0-1 +4 100 120 20| 1 17 24 O+3 ¥¢K -200 140 0.0| 3 10 44 O-3 &K 300 140 0.0
3 11 44 V-1 a7 100 12.0 20| 3 11 44 O+1 ¢K -450 70 70| 4 12 2NO-2 %6 200 12.0 20
8 12 44 V-1 *4 100 120 20| 4 13 44 O+1 &8 -450 70 70| 1 16 34 O-1 &9 100 10.0 4.0
15 14 3NV= *4 -600 80 60| 6 18 44 0O0+1 v8 -450 70 70(11 8 14 O+1 &9 -110 6.0 8.0
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15 5 340= vQ -140 30 11.0({16 6 3¢ N-2 *A -100 20 120(16 6 2vO0+2 +Q -170 20 120
2 18 54DN-2 &T -500 00 140| 4 11 24 O+1 8 -140 0.0 14018 7 3NO+2 +Q -460 0.0 140
7 - 6.5 3 - 8.5 3 - 8.5
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6 15 2vV+3 ¢3 -200 0.1 139|17 7 44 N-1 v2 -50 47 93|15 2 44 N+2 &A 680 3.0 11.0
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18 8 3NS+1 ¢4 430 140 00| 5 11 34 V-1 +K 50 140 00| 5 11 1vO-= &A -80 140 0.0
1 13 4v N= 46 420 110 30| 8 17 4v S-1 aT 550 11.0 3.0| 8 17 2¢ V+1 &2 -110 11.0 3.0
5 12 4v N= 46 420 11.0 30(12 1 4vS-1 s K -50 11.0 3.0{16 3 2¢ V+1 8 -110 11.0 3.0
11 10 34 O-4 v4 400 80 60| 6 13 5¢ S-2 &K -100 80 6.0 6 13 INO+1 #9 -120 80 6.0
6 14 3y N+1 46 170 6.0 80| 4 18 24 V= v6 -110 50 90| 4 18 2¢ V+2 5 -130 50 9.0
3 17 3¢ S+1 43 130 40 10016 3 24 V= *7 -110 50 9.0[|12 1 2¢ V+2 46 -130 50 9.0
7 16 34 O-1 v7 100 20 120| 7 15 24 V+1 &7 -140 20 120| 7 15 44 N-2 +6 -200 20 120
15 2 5¢S-2 aJ -100 0.0 140| 2 14 5vDS-2 &K -300 0.0 140| 2 14 44 N-3 +Q -300 0.0 14.0
4 - 7.4 10 - 5.5 10 - 5.5
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44 S+2  v2 480 11.0 3.0(13 2 3NS+3 3 690 140 0.0
44 S+2  vQ 480 11.0 30| 3 15 4vy N+2 2 680 120 2.0
44 S+2 42 480 11.0 30| 7 14 3NS+1 &2 630 100 4.0
44 S+2 ¢ Q 480 11.0 30| 5 10 3NS= *2 600 70 7.0
3NS+2 v7 460 6.0 80| 6 12 3NS= *2 600 70 7.0
44 S+1  v2 450 40 100|111 1 3v N+2 2 200 4.0 10.0
3NS= vQ 400 20 120(| 8 16 3v N+1 T 170 1.0 13.0
24 S+1  v6 140 0.0 140|17 4 2v N+2 v3 170 1.0 13.0

98| - 18 9.8
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